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2005 BC2 (Calculator)

The curve above is drawn in Xy-plane and is
described by the equation in polar coordinates
r=0+ sin(?ﬂ} for 0<@< ., whereris
measured in meters and & is measured in
radians. The derivative of r with respect to €

dr
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a. Find the slope of the curve at the point # = %
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G, Find the angle # that corresponds to the point on the curve with x-coordinate

-2
Xz €05 ¢&

...l:_(e-}- sinle)cOSE

arc opp sign®

is given by %:1+2m(26),
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For —<f< —-2-?—- -gr-is negative. What does this fact say about r? What does

this fact say about the curve? r ﬂ\d'm s 1% jc,-U.:p,j sma ler

and < closer 4o the or'.%tn

Find the value of @ in the interval 0<8 < %lha! corresponds to the point on

the curve in the first quadrant with greatest distance from the origin. Justify
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56. Inside the four-petaled rose r= 4cos 26 and outside the circle r =2

Determine the polar curves and shaded area
represented by the integral given below.
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